Name ___________________________ Class _________ Date _____________

                  WORLD HISTORY/ THE INDUSTRIAL REVOLUTION 
	Industrial Revolution
	

	Factors of Production
	

	Mass Production
	the production of large amounts of standardized products

	  
Enclosure Method
	

	
Cottage Industry
	

	
       Capital
	                          Money or wealth

	
        Factory
	

	
Tenement Building
	Multistory building divided into crowded apartments

	
       Labor Unions
	

	
         Strikes
	

	
      Entrepreneur 
	

	
       Socialism
	

	
     Communism
	

	
      Proletariat
	                                Working class

	Interchangeable Parts
	

	
     Assembly line
	

	
       Corporations 
	Business owned by many investors who buy shares of stock and risk only the amount of the investment

	
      Germ Theory
	The idea that certain microbes might cause specific diseases

	
    Urbanization 
	

	 
Standard of Living
	

	    Racism
	The belief that one racial group is superior to another

	 4 factors that played a role in the agricultural revolution in Britain in1700’s (634)
	1. ____________________________________________________
2.  ____________________________________________________
3 ____________________________________________________
4 Better educated Farmers

	 How did Agricultural Rev contribute to population growth 
	[bookmark: _GoBack]__________________________________________________________

	


5 Factors that helped Britain take the lead in industrialization 635
	1. Exploration and Colonialism________________________________ __________________________________________________________
2.  Sea Power_______________________________________________ __________________________________________________________  
3. Political Stability___________________________________________ ___________________________________________________________
4. Government Support________________________________________ ___________________________________________________________
5. Growth of private investment_________________________________ __________________________________________________________
6. A growing population Society that valued hard work and   worldly
     achievements 

	How did the textile business work when it was a cottage industry?
	 1. Merchant ________________________________________________
2. Weaver __________________________________________________
3. Merchant 

	New Source of Energy!!!
	New Energy source was____________________________________
Allowed for the creation of 

	Why Britain Advantage? Its factors of production. Explain the 3 factors of productions (635)
	1. ____________________________________________________ ___________________________________________________
2. ___________________________________________________ __________________________________________________\
3. ____________________________________________________


	How the factory system changed the nature if work
	1. Worked based on__________________________________________
2. Machines caused___________________________________________
3.Workers exposed to________________________________________
4. Women & children now

	Why did factory owners prefer women and children? ( 643)
	1. ________________________________________________________ 2. _______________________________________________________
3. 

	Why were towns unhealthy? (642

	___________________    ___________________   _______________

	What kept workers’ wages low
	______________________________________________________ 


	Why was factory work especially dangerous for children?
	1. ___________________________________________________
2. They could become sick from the fumes, dust, conditions

	What are the advantages and disadvantages of the factory system (641)
	Advantages                                                       Disadvantages
Increased production                                  Harsh working conditions ________________________                __________________________ __________________________________________________________ __________________________________________________________


	Explain the Process of Mass Production
	1. _______________________________________________________
2. _______________________________________________________
3. 

	Adam Smiths’ theory on economics and laissez-faire economics
	Smith believed the market was self-regulating and required almost no government involvement ______________________________________ 


	What did Thomas Malthus believe? 647
	

	 Karl Marx’s theory as explained in the Communist Manifesto 649
	Karl Marx saw how people were being used and taken advantage of by factory owners and said the ____________________________________

	Communism and Socialism
	Capitalism                                                             Socialism
An economic system in which                 __________________________
 the means of production are                   __________________________
privately owned & operated for profit     __________________________


	Henry Bessemer
661
	Invented the Bessemer process which made _______________________ Benefits: __________________________________________________ _______

	What were two effects each of the industrial revolution on home life, Countries and Societies649-
	Home Life: ________________________________________________ __________________________________________________________
Countries: _________________________________________________ __________________________________________________________
Societies: __________________________________________________


	

Advances in technology 660---
	Michael Faraday ___________________________________________
Thomas Edison ____________________________________________ 
Karl Benz _________________________________________________
Gottlieb Daimler ____________________________________________
Henry Ford ________________________________________________
Wright Brothers ____________________________________________
Samuel Morse ______________________________________________
Alexander Bell  ____________________________________________
Guglielmo Marconi 

	Advances in Science: 670
	___________________________________________________________ ___________________________________________________________


	 Advances in medicine 670
	___________________________________________________________ ___________________________________________________________


	Developments in the Social Sciences
	___________________________________________________________ ___________________________________________________________


	Improvements that were made
 in the early 1900’s
	1. Business advances in offering stock and corporations
2. _______________________________________________________
3. _______________________________________________________
4. Unions worked to helped to improve working conditions, improve wages and outlaw child labor
5. Old Age ________________________________________________
6. Rising__________________________________________________
7. _______________________________________________________
8. Music halls, museums, theaters, libraries, leisure time

	Social Darwinism 
(back of book)
	 held that wealth and power were a sign of natural superiority, its absence was a sign of unfitness. The theory was used from the late 19th century to support  

	Causes of Industrial Revolution (654)
	1. Availability of raw materials and markets in colonies
2. _____________________________________________________
3. Parliament’s support of free enterprise
4. _____________________________________________________
5. ____________________________________________________
6. Great Britain’s factors of production
7. _____________________________________________________
8. _____________________________________________________
9. Increased individual freedom in the west
10. 

	Immediate Effects of the Industrial Revolution 
	1. Rise of factories and development of labor saving, time saving machines
2. Changes in transportation and communication
3. Poor working conditions in factories
4. Overcrowding_________________________________________
5. _____________________________________________________
6. ____________________________________________________
7. Rise of new industries and ______________________________
8. ___________________________________________________
9. ____________________________________________________


	Long Term Effects of Industrial Revolution
(Notes)
	1. Growth of labor of unions
2. ___________________________________________________
3. Increased pollution
4. __________________________________________________
5. __________________________________________________
6. ___________________________________________________
7. Competition for world trade
8. 




